VCE & PDF https://www.passapply.com/c2090-611.html
2024 Latest passapply C2090-611 PDF and VCE dumps Download

PassApply.com

C2090-611°%As

DB2 10.1 DBA for Linux UNIX and Windows

Pass IBM C2090-611 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.passapply.com/c2090-611.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by IBM Official
Exam Center

@ After Purchase

@ Guarantee

© Free Update SKTISFACTION GUARANTEEp
@ Satisfied Customers

Latest C2090-611 Dumps | C2090-611 PDF Dumps | C2090-611 Practice Test 1/3


https://www.passapply.com/c2090-611.html
https://www.passapply.com/c2090-611.html
https://www.passapply.com/c2090-611.html

VCE & PDF https://www.passapply.com/c2090-611.html
2024 Latest passapply C2090-611 PDF and VCE dumps Download

PassApply.com

QUESTION 1

The following statement is run:

CREAT= MASK acct_balance_mask OM patient FOR
COLUNMN acct_balance RETURN
CASE
WWHEN werify_role_fo-_user(SESSION_USER, 'ACCOUNTING'y =0
THEM acct_balance
ELSE 0.00
END
ENABLE,

Which statement about the ACCT_BALANCE column is true?

A. Values stored in the ACCT_BALANCE column are visible to all users.

B. Values stored in the ACCT_BALANCE column are not visible to any user.

C. Values stored in the ACCT_BALANCE column are only visible to users with the ACCOUNTING role.
D. Values stored in the ACCT_BALANCE column are not visible to users with the ACCOUNTING role.

Correct Answer: A

QUESTION 2

Which statement is correct when describing trusted contexts?

A. A trusted context defines a trust relationship for a connection between the database and an external entity.

B. A trusted context promotes the authorization level of the connection initiator and grants them DBADM authority.
C. A trusted context defines a trust relationship between a user and a table allowing that user additional capabilities.

D. A trusted context gives the database connection the ability to bypass auditing since authentication has already
occurred.

Correct Answer: A

QUESTION 3

Given the following statement:
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CREATE TABLE departrrent
(deptno  CHAR(3) NOT NULL PRIMARY KEY,
deptname VARCHAR({Z29) NOT MULL,
marno CHAR(E,
admrdept CHAR{3: NOT MULL,
lozation CHAR(16))

How many constraints are present in the DEPARTMENT table?
Al
B. 2
C.3
D.4

Correct Answer: D

QUESTION 4

What information can be obtained by analyzing EXPLAIN data?
A. Access type, index use, and work load

B. Index use, work load, and join methods

C. Work load, access type, and join methods

D. Join methods, index use, and access type

Correct Answer: D

QUESTION 5

Which command will enable automatic reorg on a database?

A. UPDATE DB CFG USING AUTO_REORG ON

B. UPDATE DB CFG USING AUTO_MAINT ON AUTO_REORG ON

C. UPDATE DB CFG USING AUTO_TBL_MAINT ON AUTO_REORG ON

D. UPDATE DB CFG USING AUTO_MAINT ON AUTO_TBL_MAINT ON AUTO_REORG ON

Correct Answer: D
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